
Model 1880-P-A
1” PISTOL IMPACT WRENCH



SPECIFICATIONS

Important Warnings - Impacts  
1. Eye protection and hearing protection and safety gloves must always be worn when operating an impact wrench or impact 

driver.

2. When using heavy impact sockets or sockets on impact wrenches with 3/4” drive anvils or larger, a socket retaining ring 
and pin should be used to prevent the socket falling off and causing injury.

3. Use only impact sockets and accessories.  Only use sockets designated “FOR USE WITH IMPACT WRENCHES”, hand tool 

damage and replace when necessary.  
 
Accessory Hazards

4. Disconnect the assembly power tool for threaded fasteners from the energy supply before changing the inserted tool or 
accessory. 

5. Do not touch sockets or accessories during impacting as this increases the risk of cuts, burns or vibration injuries. 

6. Use only sizes and types of accessories and consumables that are recommended by the assembly power tool for threaded 
fasteners manufacturer; do not use other types or sizes of accessories and consumables.  

Model No. Free Speed 
(RPM)

Bolt Capacity 
(in.)

Square 
Drive 
(in.)

Impacts Per 
Minute

Max. Torque 
(ft-lb) @90 psi

Weight 
(lbs.)

Length 
(in)

Air Cons. 
(CFM)

Rec. Hose 
Size  
(in.)

Air Inlet 
(in.)

1880-P-A 4,800 1-1/4 1 900 1700 23.5 11.75 16 1/3 1/2 NPT

Tools of this class operate on a wide range of air pressure. It is recommended that air pressure of these tools measures 90 PSI at the tool while running free. Higher 
pressure and unclean air will shorten the tool’s life because of faster wear and may create a hazardous condition and void the warranty.  Water in the air line will 
cause damage to the tool. Drain the air tank daily. Clean the air inlet �lter screen on at least a weekly schedule. The recommended hookup procedure can be viewed 
in the illustration below.  The air inlet, used for connecting air supply, has standard 1/2” NPT American Thread.  Line pressure should be increased to compensate for 
unusually long air hoses (over 25 feet). Minimum hose diameter should be 1/2” I.D. and �ttings should have the same inside dimension.

Air Supply



Model 1880-P-A
1” PISTOL IMPACT WRENCH

Expolded View & Parts List

 

Ref  
#

Part Number Description Qty Ref  
#

Part Number Description Qty.

1 315PH-040 Hammer Case Rubber 1 27 314-007  Rotor 1

2 00-4229  Oil Seal 1 28 328-008  Rotor Blade 6

3 315PH-002  Hammer Case 1 29 315-009B  Rear End Plate 1

4 00-0108  Cap Screw 4 30 00-2319  Ball Bearing 1

5 00-1808  Spring Washer (M8) 4 31 00-4801  Snap Ring 1

6 00-1511  Washer (M8) 4 32 318PH-021  Protecting Band 1

7 315F-020  D-Type Handle 1 33 316-003-B  Rear Cover 1

8 00-1803  Spring Washer (M6) 4 34 00-1804  Spring Washer 4

9 00-0119  Cap Screw 4 35 00-0120  Cap Screw 4

10 315PH-010  Anvil Bushing 1 36 00-4155  O-Ring 1

11 00-4124  O-Ring 1 37 00-41159  O-Ring 1

12 310-038  Anvil Collar 1 38 316-020  Reverse Valve 1

13 315PH-011A8  Anvil 1 39 306-031  Spring 1

315PH-011B8  8” Anvil 1 40 00-3802  Steel Ball 1

14 315PH-019  Hammer Cage Cover 1 41 318PH-025  Trigger 1

15 315PH-015  Hammer Dog 1 42 00-3326  Spring Pin 1

16 315PH-013  Cam 1 43 314-027-B  Bushing 1

17 315PH-012  Hammer Cage 1 44 314-026-B  Valve Stem 1

18 315PH-030  Front Gasket 1 45 314-029  Spring 1

19 316-001  Motor Housing 1 46 316-023 1

316-019  Valve Sleeve 1 47 00-4134  O-Ring 1

00-4303  Inserts Recoil 4
48 120 00-2001  Lock Nut (M8) 4

314-031B  Air Inlet (1/2” PT)

21 00-4137  O-Ring 1 314-031C  Air Inlet (1/2” NPT)

22 00-2301  Ball Bearing 1 49 318PH-020  Spacer 1

23 327-005  Front End Plate 1 50 316-024 Handle Rubber 1

24 00-3311  Spring Pin 1 51 00-3906  Hex. Wrench (5mm) 1

25 315PX-006  Cylinder 1 52 316-021-C  Rear Gasket 1

26 00-3337  Spring Pin 1



SERVICE CENTER LISTINGS ENCLOSED

AIRCAT and NITROCAT air tools are warranted to be free from defects in material and workmanship for 2 years from date 
of purchase. We will repair or replace; at our option any defective part or unit which proves to be defective in material or 
workmanship during this 2 year period.  The foregoing obligation is AIRCAT and Florida Pneumatic's sole liability under this 
or any implied warranty, under no circumstances shall it be liable for any incidental or consequential damages.

This warranty applies to the tool only. The warranty does not apply to any attached accessories/consumable products; 
such as drill chucks, sander backing pads, air hammer retainers and chisels or “kit” accessories or any other accessory 
included with the tool.

an AIRCAT or Florida Pneumatic Authorized Service Center) are not covered by this warranty.

Return your tool to an AIRCAT or Florida Pneumatic Authorized Service Center freight prepaid.  Be sure to include your 
name, address, copy of purchase with date and description of the suspected defect. 

AIRCAT whose policy is continued product improvement reserves the right to make changes in design or construction at 
any time without incurring any obligation on tools previously sold.

Tune-Up and Head Kits for all AIRCAT PNEUMATIC impact wrenches and ratchets are available. 

For Authorized Service Centers, please visit www.aircat.com/warranty-service


